
7��7������))55
'(6,*1�)($785(6

� 02817,1*�6<67(0���7KH�IODWQHVV�RI�WKH�FRPSRQHQW�DOORZV�WKHH[WHUQDO�RU�IOXVK�PRXQWLQJ�
7KH�$'�VXSHUWZHHWHU�(YHQ�LQ�D�FRPSRQHQW�XVXDOO\�GHGLFDWHG�WR�WKH�H[WUHPH�KLJK�IUHTXHQFLHV��ZH�KDYH�SXW�RXU�ILQJHUSULQWV��GHYHORSLQJ�DQ�XQFRQYHQWLRQDO�URXQG�ULEERQ�WZHHWHU�ZKLFK��ZLWK�WKH�VXSSRUW�RI�D�VLPSOH�FDS��SUHVHQWV�LWVHOI�ZLWK�D�IODW�UHVSRQVH�IURP���WR����N+]�7KH PRXQWLQJ�GHSWK�RI�OHVV�WKDQ���PP�DQG�WKH�KLJK�SRZHU�KDQGOLQJ�DUH�RWKHU�IHDWXUHV�RI�WKLV�FRPSRQHQW�

7��)5��,03('$1&(

7��)5���)5(48(1&<�5(63216(

'� ���´�± ���PP5H� �����RKP&PV� �/H� �=QRP������� ��RKP0PV� �3PD[� �����:�����.+])V� �����+]G%6SO�����������������������G%
� '20(�����PP�GLDPHWHU�IODW�URXQG�ULEERQ�RI�FRSSHU�FKLPLFDOO\�ODLG�RQ�D�.DSWRQ�IRUPHU�� 92,&(�&2,/��7KH�VDPH�ULEERQ�LV�WKH�YRLFH�FRLO��� ���PP��D�JULOOH�VSHFLDOO\�GHVLJQHG�OLQHDUL]HV�WKHKLJKHU IUHTXHQFLHV�� 0$*1(7,&�&,5&8,7$7,21��+LJK�WHUPDO�VWDELOLW\�1HRGLPLXP�PDJQHWL]HG�ZLWK�DQ�LQWHUQDO�SURFHGXUH�


	                                                                     T 1FR  IMPEDANCE
	                                                           T 1FR   FREQUENCY RESPONSE

